
1 

 

DM N°3 TS2 03/11/15 CORRIGE  

EX 1

 

2°)                                                6       5 

                        f( x ) =   x2 (  9   +  —— + —— )              

                                                                     x          x2                      
Donc :  
lim x2 = + ∞                                                d’où    par produit  
x→+∞ 

et                                                                        lim 9x 2 + 6x + 5  =  +∞ 
               6       5                                             x→+∞ 
lim (  9 +  —— + —— )       =   9        

x→+∞           x             x2        
car lim 

�

�
 = 0 et lim   

�

��
 = 0  

         x→+∞             x→+∞           
de plus lim  √X = +∞                     donc  d’après le théorème de composition des limites  
              X→+∞           
 

                                     lim f( x ) =  +∞ 
                                    x → - ∞ 
 

On montre de même que     
 

                                     lim f( x ) =  +∞ 
                                    x → + ∞ 
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EX 2 

4°)  
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